Discussion 7.6 12 $\cot\left(\sin^{-1}\left(-\frac{\sqrt{3}}{2}\right)\right) = \cot\left(-\frac{\pi}{3}\right) = \frac{\cos(\frac{\pi}{3})}{\sin(\frac{\pi}{3})} = \frac{1}{2}$ $=\frac{-1}{\sqrt{3}}$ $\Theta = \sin^2\left(\frac{-\sqrt{3}}{2}\right)$ 33 Find y if y = In (tan x) $y' = \frac{dy}{dx} = \frac{1+x^2}{\tan x} = \frac{1}{(1+x^2)} \frac{1}{\tan x}$ u=e× $\begin{bmatrix} 63 \\ 0 \end{bmatrix} \int \frac{e^{x} dx}{1 + e^{2x}}$ du = e dx $u^2 = e^{2x}$ $\int \frac{du}{1+u^2}$ when x=0 => u=1 x= Inv3=) u= 10v3 = \sqrt{3} $fan'u | = fan'v_3 - fan'$ 0=tan J3 $=\frac{11}{3}-\frac{11}{4}$ $\tan \Theta = \sqrt{3}$ × = II 0 = tan' 1 fano = 1

STUDENTS-HUB.com

Uploaded By: Malak Obaid

 $\begin{array}{c} \hline 75 \\ \hline x^2 + 4 \\ \hline x^2 + 4 \end{array}$ $= \int \frac{x}{x^2 + 4} dx + \int \frac{4}{x^2 + 4} dx$ $u = \chi^2 + 4$ du = 2x dx $\frac{du}{2} = x dx$ $=\frac{1}{2}\int \frac{2x}{x^2+y} dx + 4\int \frac{dx}{x^2+y}$ $= \frac{1}{2} \ln |x^{2} + 4| + 4(\frac{1}{2}) \tan(\frac{x}{2}) + c$ $=\frac{1}{2}\ln(x^{2}+4)+2+an'(\frac{x}{2})+c$ Remarks $\cos x + \sin x = \frac{11}{2}$ 1 sin'x $\sec^{-1}\frac{1}{x} + \csc^{-1}\frac{1}{x} = \frac{\pi}{2}$ sect sect Note that $\sec x = \cos \frac{1}{x} = \frac{1}{2} - \sin \frac{1}{x}$ $\csc x = \sin \frac{1}{x} = \frac{1}{2} - \cos \frac{1}{x}$ 1 cos(-x) $\cos x + \cos(-x) = 11$ $tan' + cot x = \frac{\pi}{2}$ $sec x + csc x = \frac{\pi}{2}$ $\frac{1}{\sin^{-1}(\sin\frac{3\pi}{4})} \neq \frac{3\pi}{4}$ $\tan \frac{1}{\sqrt{3}} = \frac{1}{6}$ $sin'(sin \frac{3\pi}{4}) = sin'(\frac{1}{\sqrt{2}}) = \frac{\pi}{4}$ STUDENTS-HUB.com Uploaded By: Malak Obaid

Exp Find the domain of f(x) = sin (Inx) -1 ≤ lnx ≤1 =) e' ≤ lnx ≤ e' =) f ≤ x ≤ e $59 \int \frac{dx}{(2x-1)\sqrt{(2x-1)^2-4}}$ u=2X-) du=2 dx $\frac{du}{du} = dx$ $\frac{1}{2}\int \frac{du}{u\sqrt{u^2-y}} = \left(\frac{1}{2}\right)\left(\frac{1}{2}\right) \sec\left(\frac{1}{2}\right) + c$ $= \frac{1}{4} \sec^{-1} \left| \frac{2x-1}{2} \right| + c$ $3 + 4t - 4t^{2}$ = - (4t^{2} - 4t - 3) $\frac{70}{\sqrt{3+4t-4t^2}}$ $= -[(2t-1)^{2}-4]$ $\int \frac{6 dt}{\sqrt{4 - (2t - 1)^2}}$ $= 4 - (2t - 1)^{2}$ $3\int \frac{2dt}{\sqrt{2^2-(2t-1)^2}}$ u = zt - 1du = z dt $3\int \frac{du}{\sqrt{2}u^2}$ t=1=) u=1 $3 \sin\left(\frac{4}{2}\right) = 3 \left[\sin\frac{1}{2} - \sin^{-1}\sigma\right]$ $= 3\left(\frac{1}{5} - 0\right)$ = 1 Uploaded By: Malak Obaid STUDENTS-HUB.com